	Question
	Passage – 2
When a child reaches adolescence, there is apt to be a conflict between the parents and the child, since the latter considers himself to be by now quite capable of managing his own affairs, while the former are filled with parental solicitude, which is often a disguise for love of power. Parents consider, usually, that the various moral problems which arise in adolescence are peculiarly their province. The options they express, however, are so dogmatic that the young seldom confide in them, and usually go their own way in secret.
Based on the above passage, the following assumptions have been made :
1. The adolescent does not feel comfortable with his parents because they tend to be dominating and assertive.
2. The adolescent of modern times does not have much respect for parents.
Which of the assumptions given above is/are valid ?

	Type
	multiple-choice

	Option
	1 only

	Option
	2 only 

	Option
	Both 1 and 2

	Option
	Neither 1 nor 2

	Answer
	1

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83






	Question
	Passage – 2
When a child reaches adolescence, there is apt to be a conflict between the parents and the child, since the latter considers himself to be by now quite capable of managing his own affairs, while the former are filled with parental solicitude, which is often a disguise for love of power. Parents consider, usually, that the various moral problems which arise in adolescence are peculiarly their province. The options they express, however, are so dogmatic that the young seldom confide in them, and usually go their own way in secret.
Which one of the following statements best reflects the central idea of the above passage ?

	Type
	multiple-choice

	Option
	Parents in general may not be of much help when children are on their way to becoming adults.

	Option
	When children reach adolescence, involvement of parents in their lives is unnecessary.

	Option
	Modern-day nuclear families are not capable of bringing up children properly.

	Option
	In modern societies, adolescents tend to be stubborn, disobedient and careless.

	Answer
	1

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83




	Question
	What is the number of fives used in numbering a 260-page book ?

	Type
	multiple-choice

	Option
	55

	Option
	56

	Option
	57

	Option
	60

	Answer
	2

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83





	Question
	What is the sum of the first 28 terms in the following sequence ? 1, 1, 2, 1, 3, 2, 1, 4, 3, 2, 1, 5, 4, 3, 2, …

	Type
	multiple-choice

	Option
	83

	Option
	84

	Option
	85

	Option
	86

	Answer
	2

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83




	Question
	A person buys three articles P, Q and R for Rs. 3,330. If P costs 25% more than R and R costs 20% more than Q, then what is the cost of P ?

	Type
	multiple-choice

	Option
	Rs. 1,000

	Option
	Rs. 1,200

	Option
	Rs. 1,250

	Option
	Rs. 1,350

	Answer
	4

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83





	Question
	If the sum of the two-digit numbers AB and CD is the three-digit number 1CE, where the letters A, B, C, D, E denote distinct digits, then what is the value of A ?

	Type
	multiple-choice

	Option
	9

	Option
	8

	Option
	7

	Option
	Cannot be determined due to insufficient data

	Answer
	1

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83



	Question
	Three numbers x, y, z are selected from the set of the first seven natural numbers such that x > 2y > 3z. How many such distinct triplets (x, y, z) are possible ?

	Type
	multiple-choice

	Option
	One triplet

	Option
	Two triplets

	Option
	Three triplets

	Option
	Four triplets

	Answer
	4

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83





	[bookmark: _Hlk184053016]Question
	The total cost of 4 oranges, 6 mangoes and 8 apples is equal to twice the total cost of 1 orange, 2 mangoes and 5 apples. 
Consider the following statements : 
1. The total cost of 3 oranges, 5 mangoes and 9 apples is equal to the total cost of 4 oranges, 6 mangoes and 8 apples. 
2. The total cost of one orange and one mango is equal to the cost of one apple. 
Which of the statements given above is/ are correct ?

	Type
	multiple-choice

	Option
	1 only

	Option
	2 only 

	Option
	Both 1 and 2

	Option
	Neither 1 nor 2

	Answer
	3

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83




	Question
	Directions for the following 3 (three) items :
 Read the following three passages and answer the items that follow the passages. Your answers to these items should be based on the passages only.
Passage – 1
When an international team of scientists pumped a carbon dioxide and water mix into underground basalt rocks, basic chemistry took over. The acidic mixture dissolved rocks’ calcium and magnesium and formed limestone. Basically, carbon dioxide is converted into stone, exclaimed the scientists.
Which one of the following statements best reflects the most logical, rational and practical suggestion implied by the passage ?

	Type
	multiple-choice

	Option
	It is a cheap and practical method to produce limestone at commercial level for building purposes.

	Option
	This can be used as one of the methods of carbon sequestration.

	Option
	Basalt rock can be made a good source of calcium and magnesium minerals by this method. 


	Option
	Good rock-dissolving acid can be produced by mixing carbon dioxide and water.

	Answer
	2

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83




	Question
	Passage – 2
Geographers analyzed 175 satellite images of ocean colour, which is an indicator of phytoplankton productivity at the ocean’s surface, and found that giant icebergs are responsible for storing up to 20 percent of carbon in the Southern Ocean. The researchers discovered that melting water from giant icebergs which contains iron and other nutrients, supports hitherto unexpectedly high levels of phytoplankton growth.
Based on the above passage, the following assumptions have been made :
1. Giant icebergs have a bearing on primary productivity and food chains of the Southern Ocean.
2. Melting of giant icebergs can produce climate change effects and impact world fisheries.
Which of the assumptions given above is/are valid ?

	Type
	multiple-choice

	Option
	1 only

	Option
	2 only 

	Option
	Both 1 and 2

	Option
	Neither 1 nor 2

	Answer
	1

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83





	Question
	Passage – 3
Evolution has endowed caterpillars that feed on corn with a unique ability, they can induce the plant to turn off its defence against insect predators. This helps caterpillars to eat more and grow faster. The agent that causes this effect is the caterpillar's faeces or frass. The find could throw new light on compounds associated with plant response to pathogens like fungi or bacteria.
Which one of the following statements best reflects the most logical, rational and practical message conveyed by the passage ?

	Type
	multiple-choice

	Option
	Farmers can use caterpillars to feed on weeds in their crop fields/ plantations.

	Option
	This finding can help in the development of clinically useful antimicrobial compounds.

	Option
	This finding can help in the development of organic, ecologically sustainable pesticides.

	Option
	Caterpillars can be genetically modified to be predators of the other plant pests.

	Answer
	3

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83



